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package calc;

abstract class Tree { var pos: Int = _; }

case class NumLit(value: Int) extends Tree;

case class Operation(
op: Int, left: Tree, right: Tree) extends Tree;
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new Operation(op, left, right)
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Operation(op, left, right)
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package calc;
import java.io;

class Parser(in: InputStream)
extends Scanner(in) {

nextSym();

def expression(): Tree = {
var t = term();
while (sym == PLUS || 

sym == MINUS) {
val startpos = pos;
val operator = sym;
nextSym();
t = Operation (startpos,

operator, t, term() ) ;
}
t

}

def term(): Tree = {
var t = factor();
while (sym == MUL || sym = DIV) {

val startpos = pos;
val operator = sym;

nextSym();
t = Operation (startpos,

operator, t, factor() ) ;
}
t

}

def factor(): Tree = {
var t = null;
if (sym == NUMBER) {

t = NumLit (pos,
Integer.parseInt(chars));

nextSym();
} else if (sym == LPAREN) {

nextSym();
t = expression();
if (sym == RPAREN) nextSym();
else error ("’)’ expected");

} else {
error("illegal start of " +

"expression");
}
t

}
}
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import calc._;

object Str {

def toString (tree: Tree): String = tree match {

case NumLit(v) => 

v.toString()

case Operation(op, left, right) =>

"(" + toString(left) +

Scanner.representation(op) +

toString(right) + ")«

}

}
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package calc;

abstract class Tree {
def toString (): String;

}

case class NumLit(value: Int) extends Tree {
def toString () = String.valueOf(value)

}

case class Operation(
op: Int, left: Tree, right: Tree) extends Tree {

def toString () =     

"(" + Str.toString(left) +
Scanner.representation(op)
+ Str.toString(right) + ");

}
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import calc;

object Main {

def eval(tree: Tree): Int = tree match {

case NumLit(v: Value) =>
v

case Operation(op, left, right) =>
val l = eval(left);
val r = eval(right);
op match {

case Scanner.PLUS => l + r
case Scanner.MINUS => l - r
case Scanner.MUL => l * r
case Scanner.DIV  => l / r

}
}

}
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